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.
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2. 5lnlLJ7  (Shadow price) Mia~lQ~L%n?l  Sld$  (accounting



3 5
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= 100 + (100 + 0.10)

= loo  (I + d)

= loo(l+d)+ [loo(l+d)xo.lo]

= loo(l+d)(l+  d)

= 1oo(l+d)2

% 3 L%J&  loo( 1+d~2u7WrmY~ju5711na~~~~~  3 = ?oo( 1+d)2[  ?oo( l+d)2,0.  lo]

= 1oo(1+d)2[ 1 + d]

= loo (I +d)’



P = R

(1 + d)”
= R(l + d)-”

4 d4

HSDfl  Ra PV = . FV (1 + d)-”

I&&I  m&quiha~  r~$M”rm&vwm  = PV, (l+d)-‘+  PV,(l+d)-2+PV3(l+d)-3

3=
c PVt(  1 +d)-t

t=1

&A ny7  t “no  i%x~rn”~~u  t = 1, 2, 3,.........n
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pvo = 1' P",(l + d)-t
t=1



\
.

$io B&l + d)+

goct  ( 1 + d)-t

n
c Pt(l + r> -t = zn
t=o t=o

Ct(l + r) - t

da z
Q

Bt(l + r> -t - En Ct(l + r) -t = 0
t=o t=o  _

N P V = 0
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